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Section : General (English & Hindi)

Q@1 Choose the word which is least like the other words in the group.

Ans X 1. Sapphire
/< 2. Ruby
/< 3. Jasper
v 4 Marble

Question ID : 5096476654
Status : Answered
Chosen Option : 1

Q2 Select the most appropriate synonym of the given word.

SUFFICIENT
Ans " 1. meager

X 2. excess

« 3. adequate
/< 4. scanty

Question ID : 5096476659
Status : Answered
Chosen Option : 3

Q.3 Fill in the blank with the most appropriate option.

A born trickster, he was as inclined to as an embezzler is inclined to fraud.

Ans X 1. ingenuousness

/< 2. bravado
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+ 3 chicanery
< 4 candor

Question ID : 5096476649
Status : Answered
Chosen Option: 2

Q4 Fill in the blank with the right option:

All great thinkers live and a high plane of thought.

Ans o 1 move on
< 2. move at
< 3. move with

/< 4 move by

Question ID : 5096476651
Status : Answered
Chosen Option : 1

@5 Fill in the blanks with the right option:

We are not to the idea of moving to Mumbai.
Ans  of 1 averse
< 2 aversion
# 3 advise

/< 4 adverse

Question ID : 5096476655
Status : Answered
Chosen Option : 2

Q.6 Fill in the blank with the correct option.

The new jobs that a result of governmental incentives to large co-operations.
Ans X 1. are being created come
o 2 are being created come as

x 3. were created to come

x 4. are created to come as

Question ID : 5096476648
Status : Answered
Chosen Option : 3

Q.7
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Select the most appropriate option to fill in the blanlk.

They wanted to know  Twas still prepared to work on the project.

Ans X 1. as if

2 if

X 3. that

< 4 even if

Question ID : 5096476656
Status : Answered
Chosen Option: 3

Q.8 Select the most appropriate phrase that can substitute the underlined words in the given sentence.

This building is being demolished so that a five-star hotel can be built here.

Ans 1. pulled in

7< 2. pulled up

+ 3 pulled down

/< 4. pulled through

Question ID : 5096476662
Status : Answered
Chosen Option: 3

Q.9 Pats of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

Ans

. the willingness and ability of the police
in their most
Sunday’s operation also established

. remote and safest havens

to strike at the Maoists

# 1. CBEDA
v 2 CAEBD
& 3. CEDBA
& 4 CDABE

moowe

Question ID : 5096476661
Status : Answered
Chosen Option : 4

Q10 gSelect the most appropriate option to fill in the blank.

Ans

Colonel Sharma has a haveli in his village in Rajasthan.

#< 1. red stone large
/< 2. red large stone
« 3. large red stone



https://aview.in/
https://aview.in/category/previous-papers/

/< 4. large stone red

Question ID : 5096476657
Status : Answered
Chosen Option : 3

Q.11 Fill in the blank with the most appropriate option.

Paradoxically, the very admonitions intended to reform the prodigal served only to

Ans 1. turn him from
#< 2. transform
#< 3. distress him about
« 4 reinforce

his wicked ways.

Question ID : 5096476650
Status : Answered
Chosen Option : 2

Q12 Fi| in the blank with the correct option.

He move the bags himself.

Ans X 1. has
#< 2. had been to
#< 3. have to
« 4 has to

Question ID : 5096476652
Status : Answered
Chosen Option : 4

Q.13

Ans

7< 2. In corner of room stand wooden large cupboard.

Choose the correct sentence from the options given.

/< 1. In a corner of the room standing a large cupboard of wood.

#< 3. In a corner of the room stood a wooden large cupboard.

+ 4 In a corner of the room stood a large wooden cupboard.

Question ID : 5096476643
Status : Answered
Chosen Option : 4

Q14 gelect the most appropriate meaning of the underlined idiom.

Recently, he has been giving airs to himself. I don’t know, why.

Ans

/< 1. feeling very happy

/< 2. needing change of climate
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/< 3. not feeling well
+ 4 behaving arrogantly

Question ID : 5096476660
Status : Answered
Chosen Option : 4

@15 Choose the correct sentence from the options given.

Ans 3 1. The volume is comprises of twenty papers.
« 2. The volume comprises twenty papers.
/< 3. The volume consists twenty papers.

#< 4. The volume comprises of twenty papers.

Question ID : 5096476644
Status : Answered
Chosen Option : 3

Q16 Choose the correct option to complete the sentence:

Mani was found fighting desperately her life.
Ans X 1. on
v 2 for
X 3 with
< 4 to

Question ID : 5096476653
Status : Answered
Chosen Option : 2

Q17 Select the option that expresses the given sentence in reported speech.

Munna asked me, *When will you visit us again?”
Ans 5 1. Munna enquired of me when will you visit us again.
+ 2. Munna enquired of me when I would visit them again.
7< 3. Munna enquired of me when I will visit them again.

/< 4. Munna enquired of me when he would visit us again.

Question ID : 5096476658
Status : Answered
Chosen Option : 4

Q.18
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Fill in the blank with the correct option.

While I was crossing the street, killed me.
Ans X 1. a sport vehicle-utility almost
/< 2. asport-utility vehicle
+ 3. a sport-utility vehicle almost

/< 4. a sport-utility vehicle mostly

Question ID : 5096476647
Status : Answered
Chosen Option : 3

Q19 Fill in the blank with the correct option.

All primitive societies of trade.
Ans 1. organisational forms
+ 2. need organised forms

/< 3. need forms

/< 4 need organisation

Question ID : 5096476645
Status : Answered
Chosen Option : 2

Q20 Fj| in the blank with the correct option.

The numberof ~ adults has increased from 1998 to 1999.
Ans X 1. violence crime involve

& 2 violence criminal involve

#< 3. crimes involve

o 4. violent crimes involving

Question ID : 5096476646
Status : Answered
Chosen Option : 4

! T AT SEA| # FiF A1 e 27
e K e e

X 2 Y HFR

X 3 ITAT HAFR

v FF HAFRT
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Question ID : 5096476681
Status : Answered
Chosen Option : 4

Ans

< enfdw
X 2 AEas
v e
K 4 sreafcas

02 oy F FeaTw I TET T F AT v o= @O

Question ID : 5096476676
Status : Answered
Chosen Option : 3

W smwar AR R a9 & BT 9gF @ e o &

A0
x 2. E;RFHTU

v 4 T

Ans x 1. eTe
< 2 F@er
X3 guf
v Har
Question ID : 5096476665
Status : Answered
Chosen Option: 1
.24 -
Wy F o e RRT
Ans

Question ID : 5096476673
Status : Answered
Chosen Option : 4

Ans

0% EfeEr gfeenT @ Fia @ T anE

KX e - A
v 7 Ferer - F=en
< 3 arEe - aifEm
X4 B - Al
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Question ID : 5096476682
Status : Answered
Chosen Option : 2

Q26 fomr S FY AR G qE A AT F AR g R o F wgEa g i

Ans X1 Y
X 2 faSelr T ar
v 5 e
X 4 mraeT =Er

Question ID : 5096476664
Status : Answered
Chosen Option: 3

¥ =t # Ad Bbw EY F @ar 2
K T wfY

X2 gy =fY

v mx EE

X 4 zoT F/er

Question ID : 5096476668
Status : Answered
Chosen Option : 3

B AT e T Y T v oA
e X gREEe
X 2 SgaEd

<3 REme
o TR

Question ID : 5096476671
Status : Answered
Chosen Option : 4

V% e auiT 7 T ST OF Sy F @ uw oeg g m

A o1 s
X2 avea
X3 I
X 4 R

Question ID : 5096476677
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Status : Answered
Chosen Option : 1

Q.30

PR FAT ¢ Har aare & e sfa ggew gem
Ans of 1 ST AR

X 2 gy P

X3 TH H AF 7 g

X 4 AFY T gATEAT 33T

Question ID : 5096476680
Status : Answered
Chosen Option : 3

! Rerar qfeeT e 37

e X s
< 2 FgrEar

3. HIS

=

<4 T

Question ID : 5096476663
Status : Answered
Chosen Option: 3

Q.32 w1y oeE F sgEES (fFaiEE e g

Ans «i_lm'g_g
X 2. wTIHT
Xs.mgaﬁ

X g

Question ID : 5096476670
Status : Answered
Chosen Option : 2

Q33 R & a5 i @ 3 S B T F a wem B AT F wgEw g

Ans ?‘ﬁ- E§H w
K 2 el
' © HTRUT
X4 E

[ Question ID : 5096476674
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Status : Answered
Chosen Option : 3

Ans

¥ fashe orme 1 FT @ g @

A1 HER - RBER
&< 2 FeToT - TaerefoT
V'3 37TEET - T
< 4 Erar - g

Question ID : 5096476679
Status : Answered
Chosen Option: 3

Ans X 1. dF IO9
A2 JaET
v 5 guEET
&< 4 grodr

W FufEEr & g w7 R

Question ID : 5096476672
Status : Answered
Chosen Option : 3

e o e
v 2 FEERE
X+ s
X o aggre

% yfagfte w e ¢

Question ID : 5096476678
Status : Answered
Chosen Option : 2

Q.37

e X maa =
X 2 EIET
v Ry

X 4 s Thee

'ToTeh TIHIT AT U SEAT IS F T U 9 T
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Question ID : 5096476667
Status : Answered
Chosen Option : 2

¥ arger ik guler @ F T ygEd @ T e
Ans «1,3;[

Xz.aﬂm
K3 o=er
< 4 ey

Question ID : 5096476675
Status : Answered
Chosen Option: 1

3 rger 7 FEr 3k o @ Ty F B v e &

Ans

< HGASIE
W 2 FFOHTER
X 3. Hleregeh

X o Faaeniage

I

Question ID : 5096476666
Status : Answered
Chosen Option : 2

Wy B R
s XK iR

v EE S e

X o g ¥ ot R
X o g farei

Question ID : 5096476669
Status : Answered
Chosen Option : 2

Section : General Awareness

¥ zfrdm sz SR FE AT # S o
Ans X TR

X 2 qrefergs

V'3 e

X 4 ST
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Question ID : 5096476696
Status : Answered
Chosen Option : 3

2 ¥eww FESFEISs FT AT A1 #4782
A X S A

v 2 ST L

& 3. FIYRUT dH7F

X 4 3fdeT FreT

Question ID : 5096476706
Status : Answered
Chosen Option: 1

Q3 Gr=fefea F @ fw osg & a¥ 2007 # T 320 e gatdie Har
Ans X 1. gf@roT anhrer

X 2 Fg=iels

Vo g

X 4 arfeeaa

Question ID : 5096476692
Status : Answered
Chosen Option : 3

Q4 Which Indian state has the highest population of scheduled caste people?
Ans 1. Punjab

#< 2. Maharashtra

/< 3. Rajasthan

4 Uttar Pradesh

Question ID : 5096476708
Status : Answered
Chosen Option : 4

Q.5 wHeROT e HEEE (FWaE) 2018 H A 180 i ¥ 9 TmfafEe & ¥ Fi9 @ waw e
T g

X 1180 &t
V2177 =
X'3.105 ar
X411 ar

Ans

[ Question ID : 5096476687
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Status : Answered
Chosen Option: 3

U6 e figrant e T @ S R S & e 3
A o ofrEAe el

X 2 3EAE SR FHA

X o 9fsa RapaAR oA

X 4 STEAwE T

Question ID : 5096476711
Status : Answered
Chosen Option: 3

Y RPfeRT F @ #lF @ Q9w K w7 § geia 87
e XK.

X2 defiies

X i

v e

Question ID : 5096476691
Status : Answered
Chosen Option : 4

Q.8 fr=fafea & & fvw u=w & a¥ 2018 & anAwWT &@Fl & B FAT 719, 3¥A77 Bew (@A oifT, gAa
foera) aFs vF T FEA oF TR

Ans X1- ﬁ%’ﬂ'
<2 R
X 3 FEA
v 4 e

Question ID : 5096476690
Status : Answered
Chosen Option : 3

Q.9 has announced that it has clinched a deal with India on the reduction of tariffs (impert duties) on Indian

medicines including anti-cancer drugs.

Ans 1. South Korea
v 2 China
#< 3. France
7< 4. Japan

Question ID : 5096476703
Status : Answered
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l Chosen Option : 4

Q.10 faox anfie = (WEF) Z@RT % T 71 Wt GO & v weee 3 & ey 5894 § 5w e
9T gem?

Ans x1_ (—_“—%l.a];r
X 2 o
XK o FHemR

v i TEgeatels

Question ID : 5096476686
Status : Answered
Chosen Option : 4

Q.11 T=fofm & @ w7 o dode, TeT Toreeg T9es (WHO) 2@ 9ger & 49T g Jrel, d & 98
ool Tefae S9e & e

Mo X e
V2 JerdE
X st
X ¢« e

Question ID : 5096476685
Status : Answered
Chosen Option : 2

a1z ToiEe Fefic deaw H T fhE Ay # g o

Ans  X1.1991
X 2 1971
V= 2003
X 42010

Question ID : 5096476702
Status : Answered
Chosen Option: 1

Q13 The world's largest solar park ‘Shakti Sthala® is situated in:

Ans X 1. Uttar Pradesh
' 2. Karnataka
#< 3. Himachal Pradesh
< 4 Bihar

Question ID : 5096476688
Status : Answered
Chosen Option : 2
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Q.14 fe #, fageax 2017 & At e Wi vais 9=y =@ € g axde Gendr o s
Ans x1wm

v 2 Rregemes M

X s o gipsom

<4 s HftEa

Question ID : 5096476693
Status : Answered

Chosen Option : 4

Q15 s TEw FEW F AT # ¥ FE o § s awsls # Al & 7 9

X1 1934, Had
X 21929, =mERX
V'3 1931, FTrE=h
X 4. 1933, Frererrdr

Question ID : 5096476695
Status : Answered

Chosen Option : 3

Q16 eafET & ¥ fFw wgT &, 21-23 F=a1 2019 = waEr sRaT Ry #amm ar?
Ans 1. gEAT

v 2 FRroTET

X 5 TR

X4.qJ'UT

Question ID : 5096476712
Status : Answered
Chosen Option : 2

Q.17 Which of the following articles of the Constitution of India deals with equal justice and free legal aid?
Ans 1. Article 78

X 2. Article 52

#< 3. Article 86

v 4 Atrticle 30A

Question ID : 5096476699
Status : Answered
Chosen Option : 4

Q18 w3t ¥ Brw gfEwr 9F viivns Zur Fr e & Afepare & e s R e
IR & % T g Few # Wive S W FRA e 9 87
Ans
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< 4 FerfRET

Question ID : 5096476683
Status : Answered
Chosen Option : 1

Q.19 diwes Tedt & A=Ee i @ IR F T UF Flgihd i B s ¥ g A @ S S 87

Ane o1 ogEhEl
A2 darer
X 3. s

X 4. dsvere

Question ID : 5096476705
Status : Answered
Chosen Option : 1

Q.20 ot @ wi= & s o, Fed @ R oEI ATl glern B wwE A R Afger aw o £?

e X afeu A
X 2 37eiar S

o FEET FHersHult

X 4 =rar &ar

Question ID : 5096476684
Status : Answered
Chosen Option : 3

Q.21 G & ¥ 59 F70T o 9RT AR BF & ™ Reemw & @ T gher AR weae &

AT & F T BE F W TESar A (W) WgEaer e

e X e SR
X2 g area
X o R Rt
v e SR

Question ID : 5096476704
Status : Answered
Chosen Option : 4

Q.22

Ans

Which of the following statements is correct?
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Ko

A member of the Lok Sabha submits his resignation to the Attorney-General.

X 2

A member of the Rajya Sabha submits his resignation to the Attorney-General.

v

A member of the Lok Sabha submits his resignation to the Speaker of the Lok Sabha.

X 4

A member of the Rajva Sabha submits his resignation to the Prime Minister.

Question ID : 5096476700
Status : Answered
Chosen Option : 3

Q23 1ndia's first heli taxi service was launched in 2018 in:
Ans X 1. Jammu
< 2. Pune

+ 3. Bengaluru
< 4 New Delhi

Question ID : 5096476689
Status : Answered
Chosen Option : 3

¥ = ¥ Pl AT # TEE T3 38T T 7
e R S

X 2. relteelr s

X 3 TR Free =

X 4 gferere e

Question ID : 5096476710
Status : Answered
Chosen Option : 1

Q.25 The book ‘Padshahnama’ is written about which of the following Mughal emperors?
Ans X 1. Humayun

' 2 Shah Jahan

/< 3. Jahangir

< 4 Akbar

Question ID : 5096476694
Status : Answered
Chosen Option: 1

O EFEER, AERRT I Rme e
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Ans X1~ l:f a
v 2 g
X3 Tar
X4 FafEe

Question ID : 5096476707
Status : Answered
Chosen Option : 2

Q.27 iR & A & FEwr FeARfEe # @ O 9w oEe # ot @ F g e
Ans X 1. SETgT ATE IAHT

X 2 FEET

v i e

X 4. M HTeTH

Question ID : 5096476697
Status : Answered
Chosen Option: 3

V% i e sHaE el fRva B2
s X e
W 2 HAFHIR

B =

Xslﬁaﬁ?ﬁ'
K 4 qaf =T

Question ID : 5096476709
Status : Answered
Chosen Option: 1

O sra & FRUE # seEte 40 s ¥ Ry TeftE ¥
e X1 R FT HRER

X 2 FH FT AFR

X 3 sfEw & T B F 7ol A

v 4 ITE TEEat O EIsT

Question ID : 5096476698
Status : Answered
Chosen Option : 4

Q.30 According to Article 85 of the Constitution of India, can prorogue

Ans
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/< 1. The Prime Minister; the Rajva Sabha
« 2. The President: the Rajya Sabha

/< 3. The Attorney-General; the Lok Sabha
#< 4. The Vice-President: the Lok Sabha

Question ID : 5096476701
Status : Answered
Chosen Option : 2

Section : General Aptitude

Q1 g 5a:20=3:23T3b:7c=5:7&, aa:b:cH Ax Aol & 7 Fas su=T g=m?

ais of1.3:5:3
X25:7:3
R3g:25:13
X45:3:7

Question ID : 5096476736
Status : Answered
Chosen Option : 2

Q2 X 39 =X & 7T F W T WA T §| 2 km T F G, IF AT J5ar § AR 6 km TwT 7
T E, T8 U F AT A3 10 km B gl FT F § X H W F B g w R

Ans X1 6 km
<2 8 km
X 3 14 km
v 410 km

Question ID : 5096476723
Status : Answered
Chosen Option : 4

Q3 Find the ODD one out:

Shirt, Kurta, Coat Dhoti
Ans X' 1. Kurta

v 2 Dhoti

/< 3. Coat

& 4. Shirt

Question ID : 5096476725
Status : Answered
Chosen Option : 2

Q4
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T # © 37 39 SEETH IO 1 ST A BT A0 g9 & 9 & 99 & gedl # e =S
& T gl Er gl

Ans

P

O

X
©Q

v

X
e (&
(D

Question ID : 5096476714
Status : Answered
Chosen Option : 4

Q.5 75 orEt #r wF FET #, 44% v ¥ o3k oW v | o= o sitae 3w 66 st st @ i 72
g1 o e 7 A 3w e £

Ans X 1. 68.82
v 2 69.36
X 3 70.24
X 4 68.56

Question ID : 5096476738
Status : Answered
Chosen Option : 4

Q6 Select the figure that is different from the rest in some respect.

Ans
X1 \

< 2

XaX
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Question ID : 5096476713
Status : Answered
Chosen Option : 3

Q.7  The difference between compound interest and simple interest on ¥ 20,000 for two vears at x% per annum is T 512,

‘What is the value of x 7

Ans o 1. 16%
< 2 10%
< 3 14%
K4 12%

Question ID : 5096476737
Status : Answered
Chosen Option : 4

Q.8 @a;n‘ra‘raﬂﬁﬁA,B&ﬁ?c#rm4:e:ea;aigrm?rﬁ%wwaamm@v,#?zd%ﬁ

T FHE W W TES §1 C A 37 FH # 50% FEm o faw ge & @ wY e 82

Ans  of 1. 76
X2 114
X3 57
X 4 95

Question ID : 5096476742
Status : Answered
Chosen Option: 3

Q9 Fradi AR AT A T FIIITFA 5: 7 3 5 TR AAM FI3: 2 5%
e F Eamr e €1 5% HAvr & 100 mL O & 3w AR A # g 1 2 a9 F R

o T e 7 F S e ge?
Ans 1. 40 mL

v 2 20 mL

~< 330 mL

X< 4 25 mL

Question ID : 5096476740
Status : Answered
Chosen Option: 3

Q.10 3pw ¥oT FF TR o F I AR T AT §, O 50 e f mE A == (o & of)

=T 7 & #i= gefe?

PD98TRSBX

X X6SUI89Ad
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v ZociTgedqd
x5 X9S¥186dd

x« XQ2AT2dA9

Question ID : 5096476715
Status : Answered
Chosen Option : 4

Q.11 (33)%9 4 (52)21 — (27)% Fr Fo7 07 TT TTF 5FE TR T NS 9% 37 & 77 awma § &
g IOeT gem?

Ans 1.5
X227
<34
VAN

Question ID : 5096476730
Status : Answered
Chosen Option : 2

Q.12 o =fEm, P, Q R, S 3 T, v wieeR d@a & 90 AR Hx & A w0 85 §1 S, R % & @
A3 IR PIHRQFIT T T, P & a5 3T & g0y = W &1 T % 8 a1¢ Hie 337 82

s S
<2R
X3P
<4 Q

Question ID : 5096476724
Status : Answered
Chosen Option : 1

Q13 PoffET oeal 3T U 3PS eSS F AN I F § g9

Vertical | Volcano | Viola | Veteran | Vertebra
1 2 3 4 5

Ans  of1.5, 1, 4,3,

N 21,32 4,
Nd 1,2 5
<42 31,4,

g W oM

Question ID : 5096476719
Status : Answered
Chosen Option: 1
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U i e afER &, 9 37 RE F S FiF o 27 @
Ans (1m

X 2 gUER

A5 IfEr

?(4.§E$EHT

Question ID : 5096476726
Status : Answered
Chosen Option: 3

Q.15 A person marks his goods, 60% above cost price. He sells 40% goods at 10% discount, 35% goods at 20% discount and

remaining at X% discount. If his overall profit percent is 30.4%, what is the value of x ?

Ans  of 1. 30%
X 2 25%
< 3. 40%
< 4 35%

Question ID : 5096476739
Status : Answered
Chosen Option : 3

Q.16 Tl & & 58 aow S TE % o F AT G &, O 695862 # uw quT a9 & &

Ans X111
X215
v 13
X49

Question ID : 5096476728
Status : Answered
Chosen Option : 4

Q7 Prafafd Hwen # v R (?) § T W 7S G T & Iar e

11, 12, 13, 15, 15, 18, 17.?
Ans X120

<219

X318

v 4 21

Question ID : 5096476722
Status : Answered
Chosen Option: 1

Q.18
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ABCDENNFuFMTwR e A3 AR AU IT W EI A N B o gl & 798 g7 98
FIEdRCmgm $FRla & § F, E & aw & 5oy e W 31 §1 E & & aw #ix a1 32

Ans X1B

A
V3D
F

Question ID : 5096476716
Status : Answered
Chosen Option: 1

Q.19 What is the sum of digit of the least number. which when divided by 15, 54, 16 and 12 leaves the same remainder 4 in
each case and is divisible by 19?

Ans of 113
X2 14
K315
X4 16

Question ID : 5096476734
Status : Answered
Chosen Option : 3

Q20 2500x 77° ¥ AU F FoT TEA F A AT F T BFEF W @em?
Ans 1. 360

< 2 540

#3860

#< 490

Question ID : 5096476733
Status : Answered
Chosen Option: 3

921 0.7 +0.489- 0532 # AT oFaaAT # ¥ o su g
Ans o1 0.7354

< 2 0.735

X3 0.695

X 4 0.725

Question ID : 5096476732
Status : Answered
Chosen Option: 3

Q.22 groRer == 9T 3 g9 A v AT oS T w1 130% B S ¥ At wegty s % &9 4 3
st & fore T 16,000 erwrIfyy o7 For surer e gem?

Ans o1 T 5296
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< 2 T 5236
/<3 T 5138
<4 T 5186

Question ID : 5096476731
Status : Answered
Chosen Option : 1

Q.23 Taf@a & € 37 BT & 9aa w7 7 91% 92 ¥ 5% 387 YN §9d £, 9 Y8R 98T 9
gmY 98 ¥ wEled g

A w7 g

i o e TR A
X 2 zifgenstew
X3 Hr

X 4 miesarsfeg

Question ID : 5096476720
Status : Answered
Chosen Option : 1

Q24 1 , T ' & ¥ aum 16 3 Fr dreer Braem A?

4 =10 10x 16 16 x 22

Question ID : 5096476729
Status : Answered
Chosen Option: 3

Q.25 v =mf@F 100 km Fr gfr 60 km/h Fr a1fF & T el 150 km F g x kb B AT T FT FAT
¥ 3PR 3w i e Fr stes wfy 50 kmvh o, & eafafEE & ¥« F= Ae feaer e

A of 1. 45
K2 44
X3 43
X4 42

Question ID : 5096476741
Status : Answered
Chosen Option: 2

Q.26
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TraffEm & & 37 fees &1 wow w1 o S|t o ¥ &% 3 yeR Teid § B TR R e
9ge oreg ¥ mefeT §

Breall : =15 g 2
e X1 fEeflesT guar
X o fnr
v s e
X4 St

Question ID : 5096476718
Status : Answered
Chosen Option : 3

Q.27 e wem F, Fow 7R G 118 H A F 278 T W § F AT a9 @ € R wen F g e
B §7
ans X132
< 2 40
<3 35
v 4 37

Question ID : 5096476727
Status : Answered
Chosen Option : 4

Q.28 TrafafEa § ¥ 38 ReeT & = & S Sl Jew ¥ &% =0 yR 99 & O 9eR gmlr
TE TEET WE W W §
80:9::120:?
ans X110
v 11
<312
<413

Question ID : 5096476717
Status : Answered
Chosen Option : 2

Q.29 7 3mf & ey 7583x24 F, ‘1’ & Twlfae & ¥ B siw & @y sgee WOl e 44 Z@w
s gt

Ans x1?
V22
X35
X423

Question ID : 5096476735
Status : Answered
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l Chosen Option : 2

Q30 Pefafad swen # v REd (?) & TUE W 3 T FheT & 9ar e

121, 129, 156, 220,?
Ans  X1.300

v 2 345

X< 3 356

X 4 296

Question ID : 5096476721
Status : Answered
Chosen Option : 2

Section : Teaching Aptitude

Q.1 Which of the following gives a more meaningful real life situation for teaching mathematics in a classroom?

Ans o 1. Daily attendance of students.
/< 2. Solving word problems given in the textbook.
/< 3. Adding numbers on the board.
#< 4. Copying the addition problem into the notebooks.

Question ID : 5096476751
Status : Answered
Chosen Option : 3

Q2 How does science writing occur in a classroom?

Ans X 1. Interaction between teacher and learners

' 2. Note book entries
/< 3. Science talks

#< 4. Small group discussions

Question ID : 5096476749
Status : Answered
Chosen Option : 4

¥ Arew, gAEd Remtat # fFT @ sieared 4T &
Ans XL
STy W aad, 3R Fo gAeT Fey e
v R 93 & FAEHAT @A AR e

X 3
fareror arfers 1 ST= G T ANEUT TR T T ader
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X 4 FRreronferat & qedetor et & A

Question ID : 5096476761
Status : Answered
Chosen Option : 2

Q.4 Which of the following is a shift proposed in social sciences instruction by the National Focus Group constituted by
NCERT in 20067

Ans x1.

From the community being external to being internal to a school.

#< 2. From the classroom being exclusive to being inclusive.

X 3
A teacher moving away from being a mentor to becoming a guide.
v

From text book as the only source of instruction to text book as a suggestive way of instruction.

Question ID : 5096476756
Status : Answered
Chosen Option : 3

Q.5 According to the theory of cognitive development, an external factor for a child paying attention in a classroom is:

Ans x 1. Memory
#< 2 interest
' 3. competitive spirit

/< 4. forgetting

Question ID : 5096476743
Status : Answered
Chosen Option: 2

Q@6 A major discipline under the family of social sciences is:
Ans 1. language with society as a theme
/< 2. sciences dealing with experiments
/< 3. sciences with research implications

« 4. sciences with social implications

Question ID : 5096476757
Status : Answered
Chosen Option : 4

Q.7  Frarra s9er Fr Rreweaar T 3 % srmer, eIt Fr e ARt F geaa e T
et o @ W HaRT TER S 9T

Ans x1_
3A% U Hdl ganT Alse fha WAT d& 39T fhar T &

X 2 ATse FE AT 9% TN FET AT £
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v 5 #Asw fFE g 9% @] AT HEA

~< 4
FTTUTH H Hediera Aisel &1 form WAT dF 90T ey amar @

Question ID : 5096476747
Status : Answered
Chosen Option : 1

Q8 g Rrew ATy 1986 F 3R, Feat &1 RaT F T = wATT FF F Feg Fee
Ans %, e féeara

A2 fordear

v R

< 4 sfdveT

Question ID : 5096476746
Status : Answered
Chosen Option : 3

Q9 wWhich of the following is not an aim of mathematics instruction?

Ans 1. To think and reason.
v 2. To memorize and recall formulae.

7< 3. To formulate and solve problems.

/< 4 To visualize and handle abstractions.

Question ID : 5096476750
Status : Answered
Chosen Option : 4

1 e # wen, feT F dcEfd w4 T
i o A O g w

X 2 grafes Gera

X3 g B

X+ dled I

Question ID : 5096476762
Status : Answered
Chosen Option: 1

U D F T FiF @ o A gaIa geiar B2
e o FEEXd

Xz.ﬁgﬁm
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< 3. QmaETer
< 4 3cpec

Question ID : 5096476755
Status : Answered
Chosen Option : 1

Q12 offgr & oo & @ FiF T FRF, T F THERCAF [GHH F TROTH T &2

Ans

Ko

I o 3ffseas 7 A AEs TErEeT THE 2T g

X 2

S8 AT AT GEdaaER AT 39T & HHT FhaT e g

X 3 o7 facdw guee a2 §

v« 58 9@t # wwfos wergar a% g ar

Question ID : 5096476744
Status : Answered
Chosen Option : 4

Q13 7= ER =R e # ¥ P T TR, 37F AT R F R AT F A 82

Ans

X1 gt Jier
X2 g ¥ geieg R
X 3 e o =TSt AT
v T H g

Question ID : 5096476754
Status : Answered
Chosen Option : 3

Q.14 According to the guidelines given by NCERT for teaching English for classes 6 to 8, the supplementary textbook is

Ans

designed for self-study, promoting reading for:

/< 1. pleasure only

« 2. both, information and pleasure

/< 3. completing the syllabus
/< 4 information only

Question ID : 5096476759
Status : Answered
Chosen Option : 2

T aEFfaar T 32
Ans X1~
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= gEn FiE Iegat # 50 9ER el B ae S R 3ed weiE o qor &, A 7 Ree
T W &t

2
F==IT T Tg AAAT, & T= T 37T JLUHT &7 T T THATT Tl &

X 3
ot Ty & v @ 30 3w o1 9ge A T @R & U F @AY
< 4
SdteT H TRl & 39O SaRT WEe 7 g9 H &TEAT

Question ID : 5096476745
Status : Answered
Chosen Option : 2

W grfe R ReT & o ge 2w W E
Ans ( 1.
WIATTSE Hegl W e Had-Ade et % fov Reomf & amar Refa e
X 2 IUET gF AE FAT
X 3
A Hegl W == aa & fae Kot & smar Refaa wer
K 4 FeOT F FHEE AT
Question ID : 5096476752
Status : Answered
Chosen Option: 1
Q17 Which is not a challenge for girls® education?
Ans

7< 1. Lack of infrastructural facility.

/< 2. Lack of female teachers.

/< 3. Societal feeling of insecurity about girls.

« 4 Discrimination based on religion or caste.

Question ID : 5096476753
Status : Answered
Chosen Option: 2

Q.18 According to research, what kind of language environments do educators use in a high-quality classroom?

Ans

/< 1. A variety of pictures and graphics.
o 2. A variety of experiments and practical work.
/< 3. A variety of analytical questions and complex problems.

/< 4 A variety of abstract words and complex sentences.

Question ID : 5096476758
Status : Answered
Chosen Option: 2
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L

Q.19 Which of the following features makes distance education dynamic and exciting?
Ans o 1. Educational technology
« 2 Communication channels

/< 3. Contact classes

/< 4. Educational resources

Question ID : 5096476748
Status : Answered
Chosen Option : 1

Q.20 According to NCERT guidelines for teaching social science, newspapers should be used in the classrooms to:
Ans 1. to provide visuals on the topics learnt

X2

to provide information that can help with their scientific research

< 3

to provide pictures and graphics to make the news interesting

+ 4 to update on current history

Question ID : 5096476760
Status : Answered
Chosen Option : 4

Section : Concerned Subject Knowledge

Q@1 Which type of site is Durham in England?
Ans X 1. Harbour site

/< 2. Hill top site

« 3 Island site

#< 4 Sheltered site

Question ID : 5096476795
Status : Answered
Chosen Option : 1

¥ frw 9 # TOCHIT SRE # FIIAT SHET HIAT A7

At of 11967
X 21990
« 3 2001
X+ 1993

Question ID : 5096476785
Status : Answered
Chosen Option: 1
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Q3 sz # T & IR R F w0 @ o F Fean @ & 36 gwme #7 wgwa g g

Ans  X1.1400 ft
X 21100 ft
v 21300 ft
X 41200 ft

Question ID : 5096476810
Status : Answered
Chosen Option: 1

Q4  The position of the sun. the moon and the earth in a straight line is called
Ans 5 1. Three-cell

v 2 Syzygy

/< 3. Dilation

# 4 Isanomalous line

Question ID : 5096476766
Status : Answered
Chosen Option : 2

@5 Which route was once considered the ‘Lifeline of Britain’?
Ans X 1. The Trans—Pacific route

#< 2. The North Atlantic route

' 3. The Mediterranean—Suez—Asiatic route

/< 4. The Cape of Good Hope route

Question ID : 5096476803
Status : Answered
Chosen Option : 3

Q6 arg & Sfor I YROT FIF H AT FYOT T F W A Fw
Ans o 1 STIHTE

<2 g

X o o

K 4 TCEATRIOT

Question ID : 5096476770
Status : Answered
Chosen Option : 1

Y E 9¥ F SRAT TSET 9Ig T 1 ASa [&ar

Ans 11976
X 21951
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31980
< 41947

Question ID : 5096476786
Status : Answered
Chosen Option: 3

Q.8 =g vw W ¥ wER Tew & ¥ 7 T B F wglaw aff e § mgenr e e 2

Ans

X . gfgsar, gT=E=T SR =RoT
v 2 gEEn, e J@R mET
X 3 gaET, 9fFar 3R ma
X 4 gT=En, AT HR Ates

Question ID : 5096476776
Status : Answered
Chosen Option: 2

Q9 WWhat are ‘mackerel’ and ‘menhaden’?
Ans

o 1. Types of saltwater fish

/< 2. Types of trees in tropical areas

/< 3. Names of substances found in the bark of certain trees

/< 4 Names of Brazilian nuts

Question ID : 5096476805
Status : Answered
Chosen Option : 1

Q10 g a¥ F W serg dide 4 3oR AN F FoEg Feteor F @ BT TH=T 2

Ans

X 11932
v'2 1931
X 31930
X 41933

Question ID : 5096476771
Status : Answered
Chosen Option: 1

Q11 The telegraph was invented in the year

Ans

K1 1846
X 2 1842
V'3 1844
< 4 1848

Question ID : 5096476807
Status : Answered
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l Chosen Option: 1

Q12 Foger W RS F oo F @ FlF @ e WY 7 v Gew F AT s w60
Ans - X 1. Ctrl + F

V2 Ctrl + N

K3 Crl + X

X4 Ctrl+ O

Question ID : 5096476792
Status : Answered
Chosen Option : 2

Q.13  As of January 2019, with the help of air transport no place in the world is more than hours away.

Ans X130
X2 25
<3 40
v 35

Question ID : 5096476809
Status : Answered
Chosen Option: 2

Q14 Ry TET W@ H F ® IR H AR O R T T a9y I
A XL we F YT WET B
X 2 uwm fgF e g e
Vs ot fom 9 @ Seew

K4 FUFk fgag I g F & UF T©F M

Question ID : 5096476774
Status : Answered
Chosen Option : 3

Q@15 Who coined the term ‘conurbation’?
Ans X 1. M Johnson

' 2. Patrick Geddes

#< 3. Jean Gottmann

#< 4 Walter Christaller

Question ID : 5096476815
Status : Answered
Chosen Option : 2

Q.16 Which organisation maintains the upkeep of Pathankot-Tammu-Srinagar National Highway?
Ans 1. Central Public Works Department (CPWD)
X2
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Society for Promotion of Wastelands Development (SPWD)

/< 3. Local authorities

+ 4 Border Roads Organisation (BRO)

Question ID : 5096476820
Status : Answered
Chosen Option : 4

Q@17 wWhich of the following is NOT a cold oceanic current?

Ans 1. Falkland Current
v 2. Brazil Current
7< 3. Canary Current

/< 4 Labrador Current

Question ID : 5096476767
Status : Answered
Chosen Option : 2

Q.18

T & STGEIET el org 3TTF & I 27
Ans o1 373 UT HTSH

X 2 siFaETEe

X 3 dlig 3T

v o A

Question ID : 5096476787
Status : Answered
Chosen Option : 4

P IR T F AR GO & g A e
Ans X 1. 28 mph

W 2. 69 mph
< 3. 42 mph
< 4. 50 mph
Question ID : 5096476789
Status : Answered
Chosen Option : 3
Q.20 The separate/s the Aravalli Range from the Vindhya Mountain Range.

Ans 1. Maikal Hills
« 2 Great Boundary Fault

/< 3. Western Ghats
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/< 4 Narmada River

Question ID : 5096476781
Status : Answered
Chosen Option: 2

Q.21 sy amH F@5F =T (PMGSY) #7 @87 #m#mﬂmﬁq@ﬁﬁﬂﬂﬁfa‘r
TEATET TSR T ST ol
Ans o' 1. 500
X 2 400
#< 3. 550
< 4 450
Question ID : 5096476812
Status : Answered
Chosen Option: 1
Q.22 Tmaginary lines that join the places of equal salinity at sea surface (on map) are called:
Ans X 1. Isohel
/< 2 Isohexane
/< 3. Isohyet
' 4 TIsohalines
Question ID : 5096476765
Status : Answered
Chosen Option : 4
Q23 Which capital is on a frontier situation?
Ans  of 1. Islamabad
X 2. Delhi
< 3. Moscow
< 4. Berlin
Question ID : 5096476797
Status : Answered
Chosen Option : 4
Q.24 Which method was used by Amrit Lal (1959) to determine the functional classification of Class-I cities of India?
Ans

+ . Location quotient method

/< 2. Standard deviation method
/< 3. Centre place method

< 4. Quartile deviation method

Question ID : 5096476817
Status : Answered
Chosen Option : 2
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Q.25 Asper Koppen's classification, in which zone do plants thrive on almost permanently ice-covered arctic and polar areas

(say, in the Tundra region)?
Ans 1. Xerophytic zone
/< 2. Megathermal zone

' 3. Hekistothermal zone
/< 4. Mesothermal zone

Question ID : 5096476769
Status : Answered
Chosen Option: 3

Q26 1986 #r frem famrE RO ¥ @R @eF T F oo vHR & Tfenfya B &
A N .
" T@fRT TEr FeT & T g S99 35 e

X 2 FreanrF N FREF JFT AT TF 7
X 5. frmat & 3ER Afeat @ agw
X o siise ¥ wafta Rffe Aot o g

Question ID : 5096476822
Status : Answered
Chosen Option : 1

Q27 What is the full form of the term ‘ESCAP*?
Ans X 1.

Economic and Social Commission on America and the Pacific

X 2

Environmental and Social Commission on Africa and the Pacific

+ 3. Economic and Social Commission for Asia and the Pacific

X 4

Environmental and Social Commission on Asia and the Pacific

Question ID : 5096476821
Status : Answered
Chosen Option : 4

P ¥ & EEET T S @ 7 st €2

1) & @
2) ARPIEAT AT
3) FERAr @
4) YRHE @9
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Ans %13 4
X2 2.3
<341
v, 2

Question ID : 5096476782
Status : Answered

Chosen Option : 4

Q29 a3 9w & T TER F i & Bl gEva (Sgme) #r e &

Ans ?‘ﬁé‘ﬁl’ﬂm

X 2 TATH el
Vs aEdr @
X 4 g Refm
Question ID : 5096476783
Status : Answered
Chosen Option: 1
Q.30 Damodar Valley at Rajrappa in Hazaribagh is a typical example of a valley.

Ans o 1. Polycyclic
#< 2. Tricyclic
/< 3. Bicyclic
/< 4. Monocyclic

Question ID : 5096476777
Status : Answered

Chosen Option: 1

@31 Natch the following companies with their respective locations:

1) BALCO
2) Hindalco
3) MALCO
4) NALCO

Ans o1 1AC,2-A. 3-B.4D
X 2 1-D, 2-A, 3-B, 4-C
V3 1-C,2-A,3-D, 4B
X 4 1-A,2-B,3-C, 4D

A) Uttar Pradesh
B) Odisha

C) Chbhattisgarh
D) Tamil Nadu

Question ID : 5096476788
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Status : Answered
Chosen Option : 3

Q.32 In which year was the ‘Urban Land (Ceiling and Regulation) Act” established by the government of India?

Ans X1, 1996
< 2 1986
v 3 1976
< 4 1966

Question ID : 5096476819
Status : Answered
Chosen Option : 4

Q33 yWhat is the full form of the term ‘OFC’?
Ans ' 1. Optic Fiber Cable

X 2. Optical Fiber Conference
/< 3. Optical Fiber Communication

/< 4. Optic Fiber Conference

Question ID : 5096476811
Status : Answered
Chosen Option: 3

Q34 T Germany. motorways are called

Ans o 1. Autobahns
/< 2. Nationalways

/< 3. AutoRoutes
/< 4 Autostrade

Question ID : 5096476801
Status : Answered
Chosen Option : 4

.35 : *
G D F =T HTET |
Ans x 1. ﬁ
v 2 grér
X 3
X 4
Question ID : 5096476808
Status : Answered
Chosen Option: 1
Q.36

Ans J 1.
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Question ID : 5096476784
Status : Answered
Chosen Option : 3

Q.37
Ans « 1
X2
X 3.
x4
Question ID : 5096476794
Status : Answered
Chosen Option : 2
Q.38
Ans X 1.
X2
3
X 4
Question ID : 5096476802
Status : Answered
Chosen Option : 3
Q.39
Ans ( 1.
X2
X 3.
X 4
Question ID : 5096476772
Status : Answered
Chosen Option: 1
Q.40
Ans

Question ID : 5096476804
Status : Answered
Chosen Option : 1

Q.41
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Ans ( 1.
X2
X 3.
X 4
Question ID : 5096476764
Status : Answered
Chosen Option: 3
Q.42
Ans X 1.
2
X 3.
X 4
Question ID : 5096476814
Status : Answered
Chosen Option : 2
Q.43
Ans X 1.
v
X3
x4
Question ID : 5096476796
Status : Answered
Chosen Option : 1
Q.44
Ans x 1.
X 2
X 3.
v
Question ID : 5096476798
Status : Answered
Chosen Option : 3
Q.45
Ans X 1.
v 2
X 3.
~oa

Question ID : 5096476780
Status : Answered
Chosen Option : 2
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